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In each of the following questions, the relationship between different
elements is shown in the statements followed by five conclusions. Find a
true conclusion.

Statements:
G=2M>T=S>P; V<T>N=2Q;

Conclusions:
A.P>M

B.G>Q

C.S<V

D.N >V

E.None of the above
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In each of the following questions, the relationship between different
elements is shown in the statements followed by five conclusions. Find a
true conclusion

Statements:

R=2ZK=2M=P; T<Z>S<P
Conclusions:

AT <M

B.Z < K

C.R=S

D.Z =R

E.None is true
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Pointing to the lady in the photograph, Mrinalini said, “Her son’s father is
the only son-in-law of my mother”. How is Mrinalini related to the lady.

Wﬁ#ﬁ%maﬁmﬁg&mmﬁmmﬁ:ﬁ#w --maéa;
ﬁmﬁﬁm#swﬁﬁm%‘lmnﬁﬁrmwmﬁwm%?

a) Sister

b) Mother

c) Cousin

d) Aunt

e) Sister or self
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g ik A g RIi FT v aRar ¢,
o et Afgee 3k & fAafRa a2
IRER & YA+ IiFd & v Ir ay el ar
ATT-RAT H A F1S iy shfga i gl

d7 Fr oy g Ar AT B

fem siREfRa afeerel

d Y AT FT HIS HTE-9g el o

ST fora) T g & S &Y a<at hr AT ¢
ST 39 Y EEY § S 9T 7 7l B

Eight persons — Joy, Raj, Sam, Pal, Abymg,
Dev and Tia consists of a family of three
generations such that there are three
females and two married couples in the
family. For every person of the family either
both or none of the parents are alive.

Sam's sister in law is mother of Dev.

Tia is an unmarried female.

Dev's mother doesn't have any siblings.

Joy is father in law of Neo who is mother of
two children.

Raj is grandmother of Dev who is nephew of
Pal.
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Eight persons — Joy, Raj, Sam, Pal, Abymg,
Dev and Tia consists of a family of three
generations such that there are three
females and two married couples in the
family. For every person of the family either
both or none of the parents are alive.

Sam's sister in law is mother of Dev.

Tia is an unmarried female.

Dev's mother doesn't have any siblings.

Joy is father in law of Neo who is mother of
two children.

Raj is grandmother of Dev who is nephew of
Pal.
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How is Sam related to Raj?

dA, Uo7 § FA 9T 8?2

A Daughter
B Son in law
C Son { Pali Sam‘iAby._‘v Neo |
D Husband i
E Wife {Dev: Tla ]
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How Is Neo related to Pal?

o, o @ FE veR geafda g7

A Sister In law
B Mother in law
C Wife

{ Pali Sam‘iAby._‘v Neo |

D Daughter in law |
E Brother in law (Dev Tia )
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There are 8 members D,E,F,G H,I,Jand K in a family which consist§}
of only two married couples. There is no single parent in the family. I

iIs married daughter of J, who has two children. J is the sister-in-law of

H. E is the only child of F. G is the sister-in-law of grandfather of E. D is

younger than K, who doesn’t have sister.

WmﬂﬁstEFGHljsﬁTK% SEA Faad 1 Rafed 2 & IRar &
& fY Arar-far &t & 1, ) H RaRa ¢ & 59 @ 5= &1 J, H A Rre-ga-ar 8
E, F Y sHaldt Ga B G, E¥ ST Y feet-sA-ar &1 D, K¥ o ¥, forwd ageT AdT

q
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How is E related to the fathelj gf D?
E, D& [Oar ¥ 59 R &g g7

G(-)—J(-)==K(+)—H(+)
A.Granddaughter |
B.Daughter D(+/-) I(-) F(+)
C.Son ‘

D.Nephew E(+/-)
E.Can’t be determined
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If F doesn’t have brother in law, how is D related to sister in law of H?

Ife F &7 9T 81 T oTaf &, af D, H i AT 57 of ¥ 5T v gafeq g2

A.Sister

B.Daughter G(-)—J(-)==K(+)—H(+)
C.Mother |

D.Sister in law D(+/-) I(-) F(+)

E.Can’t be determined

E(+/-)
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How many male members are there in the family?

IRER & fFda Y FeET 82

A.Two G(-)—1()==K(+)—H(+)
B.Three |

C.Four D(+/-)—1(-)===F(+)

D.Can’t be determined l(,,/-,
E.None of these
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Statement: —

NoAisC. FrEA C T &

Only O are B. F9 O, B &

Alone C are O, @ C, O 2l

Conclusions: farse': ﬂ | |
I. Some B being A is a possibility. . & B FT A BT UF HA1ET 2|
IL, Some O are A. I %= O, A B

01. Ifonly conclusion I follows. 02, If only conclusion II follows.
03. If either conclusion I or IT follows. 04. If neither conclusion I nor IT follows.
0S. Ifboth conclusions I and 11 follow.
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Statement: FAT:

Few B are X. 3;:@]3;}(@
Some B are not V. % B, VAE 2l

AllVareY. et Vv, Y £l
Conclusions: ey

I. SomeBare Y. L% ]3 Y 8

II.No Y is B. ILFEY,BI &

01. If only conclusion I follows. 02. If only conclusion II follows.
03. Ifeither conclusion I or II follows. 04. If neither conclusion I nor II follows.
05. Ifboth conclusions I and II follow.
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Statement:

Only few P are C.
Some C are Q.
Alone Q are E.
Conclusions:

I. AllPcanbeE.
I1. All Q can be C.

01. Ifonly conclusion I follows.

03. Ifeither conclusion I or II follows.

0S. Ifboth conclusions I and II follow.

™ at 11:30 AM

-

9 %3 P 21 C 2l
%% C, Q7
FFaT Q. E 2|
IGAEDF

[ @+t P, E 27 9T 2|

[ 7T Q. C 2T {7 2

02. Ifonly conclusion II follows.

04. [fneither conclusion I nor II follows.
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it is possible to make one meaningful word with the second, the third, th
sixth and the eight letters of the word FRAGMENT, using each letter only
once, then which of the following will be the third of that word ? If no such
word can be formed, give ‘X' as the answer and if more than one such words
con be formed; then give ‘y’ as the answer

gf¢ FRAGMENT 2s¢ & &Y, dliy, B0 3R 3115 3eRT & Ueh AUl Asq
IATAT AT g, I 378X &l hdd Ueh dF JIET dhlch, dl HFATelidd H
q iT TT 3T AsE T T 8?2 Ife VAT IS e Agl SATAT ST Fehel
g,ﬁW'X'éﬁTaﬁWﬁm@%M SAd g, A3 HF T H Y

(1)A
(2) E
3T
(4) X
(5)Y
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How many such pairs of letters are there in the word '"CORPORATE', which
have as many letters between them in the word as there are, in the
English alphabet between the same letters in sequence?

A 'CORPORATE' # &I & ¥ fhdal s &, et o g &
3de & &Y g forder s IotATar A FAT e & i 7 &

272

NONE

ONE

TWO

. THREE

MORE THAN THREE

mooO >
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e people are sitting in two parallel rows containing six people each, in such a way that
there is an equal distance between adjacent persons. In row-1J, K, L, M, N and O are seated and
all of them are facing south. In row-2 U, V, W, X, Yand Z are seated and all of them are facing
north. Therefore, in the given seating arrangement each member seated in a row faces another
member of the other row. M sits third to right of K. Either M or K sits at an extreme end of the
line. The one who faces K sits second to right of Y. Two people sit between V and Z. Neither V nor
Z sits at an extreme end of the line. The immediate neighbour of V faces the person who sits
third to left of J. L and N are immediate neighbours of each other. W sits second to the left of U.
N does not face the immediate neighbour of X. dg gfFd & AR 9foaar # 93« A
B¢ AfFd 30 YR 48 § F smdew safFaat & fiw gaer gt 81 9fFa-1 & 4,k LM,
N3 oS § 3R 37 weft &1 7@ gfaror #ir 3T 81 9FT-2 A U, v, W, X, Yand 23S §
AR 3 wsft 1 A 3T A AN T sufAT, & 7% doF HIEAr F vw 9fFq A R
Y% W F G qfFd & Hed FeET $T 3T T M, KF e § Y sy )
dor g1 I @t maT K & Jfad s W a1 gl
&Y safFa 4% ¥
34

2
%%3
A

& e & TATH 9T So1 81 VIR z& #Aey
gfed & 3 BR W 388 & vF RAFecad =10 &1 7@

9

Y T 9T S997 . LR NTH @Y & fAdedd v 8 W uF
T W 43T 81 N, X F fdmeas asilt & 3R 3779 18 3l

9

i
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Twelve people are sitting in two parallel rows‘ |'

containing six people each, in such a way that
there is an equal distance between adjacent
persons. Inrow-1J, K, L, M, N and O are seated
and all of them are facing south. In row-2 U, V,
W, X, Yand Z are seated and all of them are
facing north. Therefore, in the given seating
arrangement each member seated in a row
faces another member of the other row. M sits
third to right of K. Either M or K sits at an
extreme end of the line. The one who faces K
sits second to right of Y. Two people sit between
V and Z. Neither V nor Z sits at an extreme end
of the line. The immediate neighbour of V faces
the person who sits third to left of J. Land N are
immediate neighbours of each other. W sits
second to the left of U. N does not face the
immediate neighbour of X.
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N faces the person, who is the immediate neighbour of
N ST q@ 3 qfad $T 3T 3, s &1 [Awead T4 ¢
a)U

b) X

c) Both Uand V

d)Vv

e)Z
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Which of the following person sits immediate right of X?
fArfaf@a & @ si9 a1 FFd X & SF g a7 872
a) No one sitting

b) V

c) Y

d) U

e) W
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Which of the following statement is false?
a) N sits second to the right of K

b) L sits immediate right of N

c) W:ssits at one of the extreme ends

d) U sits immediate right of Z

e) All the options are true

frafafea & 4 Fla a1 Fya 3wca 82
a) N,K.¥ g @G T WAST ¢
b) LN.FNF ST 3T

c) Wirfltw I SRR doTe

d U zZ.&FAFcA TR

e) M RAFecT TR
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Eight persons A, B, C, D, E, F, Gand H are going o
holidays in four different months i.e. January,
March, April, May on two different dates i.e. 13th
and 22nd but not necessary in same order. C goes
in the month which has even number of days. Two
persons go between C and F. B goes just before F.
More than four persons go between B and D. H goes
before A and after E. A goes in the month which has
even humber of days. G does not go on odd humber
date of the month. G goes after C.

36 TR A, B, C, D, E, F, G 3R H TR 3791-37e13T HAgIAT
T STAa, AT, 304, AS A ST I TI-3eT3T IRIET 1A
13ﬁtzzmﬁmwm@%maﬁﬁaﬁ
o =3 o A g1 ¢ 3 A 3 ST & o R Y
FEATHA RN R IR FF T AFaTAEIB, FF
S g SITdaT & | BﬁD%WWﬁmTﬁ%{
e §1 H, A T I8 31 E & a1g AT &1 A 3 AN A
3T &, foreet Rt & s @ @it §1 6 A iy RwA
HEIT dTell dIE X AT ST 81 G, C & 91 ST e

-
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Date Who among the following person goes on 13th march?
(@)e

BT | (0)F
(c)E
(d)
BT R | (<) None of these

How many persons go between F and G?
(a) Four

(b) Three

(c) Two

(d) More than four

(e) None

Who among the following person goes on 13th January?

(a)C
(b) D

(c)B
(d) A
(e) None of these
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Who among the following person goes just

AN S|  beforeD?
(a) &
(b)C
BT . (<)

(e)E

Four of the following five are alike in certain
way based from a group, find the one that does
not belong to that group?

(a) F

OL

(c)A

(d)e

O
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‘wanted minority People’ is written as ‘ew or le’,
‘Education wanted higher’ is written as ‘in ew no’,
‘People leader residence’ is written as ‘sd le dr’,
‘Education feedback wanted’ is written as ‘db ew no’.

What is the code for ‘wanted’?
CEY

(b) or

(c)le

(d) no

(e) None of these

What is the code for ‘Leader’?
(a) sd

(b) le

(c) dr

(d) in

(e) cCan’t be determined
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What does ‘db’ stand for? |

‘wanted minority People’ is written as ‘ew or le’, (a) Edu.cqtion
‘Education wanted higher’ is written as ‘in ew no’, (), re.slde.nce
‘People leader residence’ is written as ‘sd le dr’, (c) minority
‘Education feedback wanted’ is written as ‘db ew no'. (d) feedback

(e) None of these

What is the code for ‘minority’?
(a) or

(b) le

(c) ew

G

(e)None of these

Which of the following may be the code for ‘people
city residence’?

(a) leytdr

(b) leytew

(c)sddrle

(d) orledr

(e) None of these
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A family consists of eight members J, K, L, M, E, F, G and H. K is the parent of E, who
is the only sister of J. His father in law of K. M is the only daughter of H. G is the
son of F who is son in law of H. L is father of J.

UHh IRER & 316 TEFT J, K, L, M, E, F, G 3T HEI K, ESHT ATG-NAdT &, ST J T Shalldy a8
1 H, KT TG §1 MsFHaldt & ¥ H.G,FHT 97 §, ST H T q&1g 81 L, ) &1 Rt g

How many females are there among the given members
of the family?

(a) two (b) three

(c) four (d) more than four

(e) Cannot be determined

How is J related to K?
(a) father (b) father in law(c) Son
(d) Cannot determined (e) daughter

How is G related to L?
(a) Son (b) Uncle (c) Daughter
(d) Niece (e) Nephew
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Sam starts from city E travels 25km in East direction to reach city G. He then turns leftamd
travels 22 km to city L. He then turns left and travels 13 km to city S and stop in city M after
turning left and travelling 13km.

ﬂwamzﬁwm%sﬁnmeawmﬁa:mﬁﬁmﬁzsm“raﬁrwm%lﬁwag
A ayzar ¥ 3R aeT Law 22 Pl A AT Far ¥ R ag a0 agzar ¥ sk T s#Y 3R 13 R
aﬁrwm%aﬁtmmﬁrsﬁtwﬁmﬁaﬁwmﬂ:mammﬁm%l

In which direction is city M with respect to city G?
(a) North-west

(b) South-east

(c) North-east

(d) South-west

(e) North

What is the shortest distance between city M and
city E?

(a) 9km

(b) 13km

(c) 25km

(d) 15 km

(e) None of these
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S\V/ enpersonsi.e.P,Q,R, S, T,Uand V are scoring different marks in an examination. T ¥

score more marks than R. T score more marks than V and less than U. P does nhot score the
highest. S score less than T and more than only one person. R score more than U. d1d
gidd 34T P,Q,R, S, T,U3R VuF qiiell & Acer-31eA9r 3iF 9Ied &Y @ &1 P, R¥ 3% 3+
yred T g1 T, VT 3HfF 3 9Iod Hidr ¢ 3N U FA| P3=TdH & UIcd «Tgl Hdr ¢l S, TH
HH 3T Fad TH IfFd F AR 3F 9Iod HIGT g1 R, UH 3®0F 3+ qreq wwar &

Q>P>R>U>T>S>V

Who among the following person score highest
marks?

(adu (b)R (c)Q

(d) T (e) None of these

How many persons score less than V?
(a) One (b) None (c) Two
(d) Three OILE

Who among the following person score
third highest?

(a) Vv (b) P (c)R

(d) T (e) None of these
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Anchalis 30th from the left end of a row and Teena is 21st from the right end of row. if

they interchanged their positions then anchal ranks become 32 from left end. Find total
number of persons in the row?

I T 9fFd F 90 BR § 309 T W ¢ AR o 9fFd F a0 sR § 219 T W | A
q HYAT T HIH # 9¢eT od ¢ oY 3= 1 ¥F a0 B8R & 32 g A7t g1 9fFa & safFaar f
S EIAT AT HIfAT?

(a) 51

(b) 47

(c) 58

)Y

(e) None of these


http://www.mahendras.org/

' CLERK 2022 / /mmat 11:30 AM/

There are ten peoplei.e.M,N,O,P,Q,R,S, T,U
and V who have seated on a bench, faces
towards South direction. M and T sits together
but both of them do not sit at any extreme end.
There a 4 people sit between Q and V. Only two
people sits left to Q. O sits immediate right of U.
P sits 2nd left of T and S is the neighbor of P.
There is three people between U and N who
does not sit at left end of the bench.

g <gfFT NATTM, N, 0, P, Q,R,S, T, UV T o=
WS E, mwafﬁwﬁena?rm%l M 3R T v |1y
R F AT YA rhar st siRm e wWAd 33§ aeiq
IiRVEFNTsaFadS e FaaraFaqF a5 &
O,UF SF A d3T71 P, TF 1 & g T W daT8
3R s, P FTIRHET 1 U 3 N F Aeg AT =fFa § S gt
ST T F AT IR WIS
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Who among the following sits 2nd left of Q?
(a) R

OF
(d) N
(e) None of these

How many people sit between U and M?
(a) Four

(b) Three

(c) Two

(d) One

(e) No one

Who among the following sits at extreme right end?
(a) P
(o) N
OF
(d) T
(e) v
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Eight persons are sitting in two parallel rows faci‘ '
each other. A, B, C and D are sitting in row 1 are facing
southand W, X, Y and Z are sitting in row 2 and are
facing north. Four of them likes fruits i.e. Papaya,
Apple, Grapes and Guava. No two persons who likes
fruits are sitting adjacent to each other and opposite to
each other.B sits second to the left of A. B faces the
immediate neighbor of Z who sits at one of the extreme
end of the row. C faces Y. W sits second to the left of X.
B likes Papaya. Z likes Apple. The one who likes Guava
does not face in the south direction.

375 ST &Y HATATR GTFdal # T gaR Y 30T AW FI 4531 A,
B, ¢ 3R D Ul 1 3 &fRor Y 3 3@ A A T3 w, x, v 3R
2 i3 2 A 43 § 3R 3T A IR 377@ ¢ | 3TH A IR Hel THG FI
¢ YT 9T, A, 3R 3R I3ATE| Bl THE Flol T 1S st ar
SATFd U g & AWl IR TH gl & Qa8 45818, A%
a1 § gAY T WAST 81 B, 2% qErHl A 3R 3FAE e S
ufea & frdl v AT R W dsTEI cHFTATY A ARGI W, X F
aTT ¥ G T 9 AT | B FY el wwg ¥ 2 1 e 0wE
IHATE THE LT qTel T 7@ GIAT0T e hr 3 7871 B
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Who among the following likes Grapes?

Grapes Papaya (CI)A
,{ C B D (b)X

w1 ———— el
row 1 (d)C

(e)W

Who among the following persons faces the one

w X X 2 who sits immediately left of Z?
Guava z\bplc (CI)A
(b)c
(c)D
(d)The one who likes Papaya
(e)The one who likes Grapes

Four of the following five are alike in a certain way and
hence form a group, which of the following does not
belong to the group?

(a)A

(b)D

(c)X

(d)z

(e)W
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Which of the following statement is true? -
T —— (a)Y likes Grapes
e R g (b)The one who faces X likes Papaya

rowl ————— (c)None is true

(d)A sits immediate left of C

s ————— (e)X sits second to the left of W

w \' X Z
Guava i\bplc

Number of persons sitting to the left of D is the
same as the number of persons sitting to the
rightof __ ?

(a)C
(b)z
(c)w
(d)B
(e)Y
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Six persons are sitting in a triangular table
such that three of them sits at the corners of
the table and three of them sits at the middle of
sides of the table. The one who sits at the
corner faces towards the center and the one
who sits at the middle of sides of the table
faces outside the center of the table.

Only one person sits between A and B. B sits
second to the left of C. E sits second to the right
of F who is not an immediate neighbor of A. D
faces outside the center of table.

B¢ A19d U RYAFR AT A A IR S8 fF3aad @
et A & Fa1 W3S § 31} 379 & et A7 Fr et &
ALY # 35 §| Fie W3S cafFa w1 7@ Fg FA 3 g AR
AT Y ITST3MT & i< A AT 8, 3WHT H{W gy & 6T 1 AR
2. A 3R B & T Fger v T AT B, CHF T T W
TYTT G ASTE 1 E, F F S & GHY TYUTT G 43T 8 ST A H
fread = A€ 81 D F1H@ F5 F AT AT AT

O
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Who among the following is third to the righml
D?
(@A (b)B (c)c  (d)E (e)F

Four of the following five are alike in a certain way
and hence form a group, which of the following
does not belong to the group?

(a)D-C

(b)C-F

(c)B-F

(d)F-B

(e)A-E

If A and B interchange their positions, then who
among the following sits second to the left of B?
(a)C

(b)D

(c)E

(d)F

(e)None of these
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Which of the following statement is true? -
(a)F faces towards the center of the table

(b)C sits immediate right of F

(c)A faces outside the center

(d)None is true

(e)E sits second to the left of D

Which of the following statement is true?
(a)F faces towards the center of the table
(b)C sits immediate right of F

(c)A faces outside the center

(d)None is true

(e)E sits second to the left of D
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(a) If only conclusion I follows.

(b) If only conclusion Il follows.

(¢) If either conclusion | or Il follows
(d) If neither conclusion I nor Il follows.
(e) If both conclusions | and I follow.

Statements:

Only a few states is country.
Some country is city.

All city is village
Conclusions:

.. All country can be city

Il. All states can be country

Statements:

Some Sania is Sindhu

No Sindhu is Player

All Player is India
Conclusions:

l. Some Sindhu can be Indir
Il. Some Sania is not player
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(a) If only conclusion I follows. Statements:

(b) If only conclusion Il follows. Only a few states is country.
(c) If either conclusion | or Il follows Some country is city.

(d) If neither conclusion I nor Il follows. All city is village

(e) If both conclusions | and I follow. Conclusions:

l. All country can be states
Il. Some village can be country

Statements:

Only flower is fruit

Some flower is chocolate
Some chocolate is drink
Conclusions:

|. Some fruit can be drink

ll. Some flower can be drink
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ETgnt persons K, L, M, N, O, P, Q and R are from two generations and four married coupfe %

and N are married couples K is father in law O who is sister in law of L. L and P are married
couples. P is daughter in law of R. M and L are siblings of same gender. N is mother of P.

3ms afdd K, L, M, N, O, P, Q3R RaY difgal & ¥ 3k ar Raifka a2 &1 a3k Nfafea s &
K, 8gT OF, it L# R¥ex 51 af §1 L3R P Rafea I3 &1 P,R#A ag 31 M3k Luaer Rer &

HTS-dgT &1 N, P Fr ATaT Bl

How is P related to M?
(a) Son-in-law (b) Son (c) Sister -in-law
(d) Daughter (e) None of these

If J is the only child of L then how is N related to J?
(a) Maternal Grand mother (b) Mother
(c) Aunt (d) Father (e) None of these

How is L related to K?

(a) Son (b) Son in law (c) Brother -
in-law

(d) Father (e) None of these
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